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Test: Number 0	     5	      10 minutesTest time:

1 

2 	 Ninety thousand nine hundred and nine.
Which answer shows this written as a number?
Circle the answer.

99 099 	 99 999 	 90 909 	  
90 009 	 90 099

3 		  103 247
The 2 in this number is worth two hundred.
What is the three worth?
Circle the answer.	

A	 Three hundred	 B	 Thirty	

C  Three	 D	 Thirty thousand

E	 Three thousand	

5 

13,  130,  ……,  13 000,  130 000
What should be the value of the 3 in the 
missing term?

_______________

4 

Find a number for the blank space so that the 
list is in order of size.
2.35,  2.39,  ……,  2.42
Circle the answer.

A	 2.40	 B	 2.3	 C	 2.421

D	 2.381	 E	 2.30	

6 	 From the list find the smallest number. 
	 Circle the answer.

7.6    7.06    7.60    7.006    7.600

7

In a class of 30 pupils, 11 are girls.
Approximately what proportion are boys?
Circle the most appropriate answer.

 1–2    11–30    1–3    2–3    5–6

8 

To make 2500 ml of orange squash, 500 ml of 
concentrate must be used. 
What proportion of water must be used to 
make up the rest?
Circle the answer.
 1–5    1–4    4–5    3–4    2–5

	 What is the number 59 038 in words?
	 Circle the answer.

A	 Fifty-nine thousand and thirty-eight

B	 Five hundred and ninety thousand and  
thirty-eight

C	 Fifty-nine thousand three hundred and  
eighty

D	 Five thousand nine hundred and 
thirty-eight 

E	 Five hundred and nine thousand and 
thirty-eight

9 	 7.6324
What is this number to two decimal places?

______________

10 	 8.9956
What is this number to two decimal places?
Circle the answer.

9.00    8.99    8.90    9.0000    9.0056

Total




